2022 - MR SIX DAYS 300CC USA (FRAME)

10

12

14

15

16

17

CENTRAL POWERSPORTS
Distrivutian

RJ-FRAME (200,250,300) {RIEJU MR 20} (BLACK)
0/000.010.9100 (u. 1)

CAGE NUT 6mm : T2606000
0/000.340.9120 (u. 5)

RJ-MR CLIP (1E3J) SUJ. INST. (2018-2019) : BE10984GG-CLJ-1
0/000.630.9100 (u. 2)

BUTTONHEAD ALLEN BOLT 8X25 : T0508025
0/000.460.9157 (u. 2)

ZINC STEERING STOPNUT M8X13X8 : T2008002
0/000.340.9109 (u. 2)

RJ-MR KICK BRAKE (2018-2019) : BE13000CT-CLJ-1
0/000.730.9100 (u. 1)

(ENDURO) BRAKE PEDAL
BE130102510 (u. 1)

(ENDURO) BRAKE PEDAL BEARING 628-2RS
BE13025GG-CLJ-1 (u. 2)

SPECIAL BOLT 8x40 : T0228040
0/000.460.9140 (u. 1)

RJ-MR BRAKE PEDAL SPRING : BE13015GG-CAB-1
0/000.470.9100 (u. 1)

RJ-MR RUBBER PROT.TANK GASOLINE (2018-2019) : BE76045GG-CLJ-1

0/000.220.9116 (u. 1)

SCREW M10x113 : 70210113
0/000.460.9132 (u. 2)

10MM NUT (1.25) : T3110002
0/000.340.9123 (u. 2)

SPECIAL SCREW 8x50 : T0228050
0/000.460.9141 (u. 1)

Central Powersports Distribution - Last modification: 26/04/2022




2022 - MR SIX DAYS 300CC USA (FRAME)

CENTRAL POWERSPORTS

RJ-NUT DIN 6927 M8 Cal.8 Z (WHITE)
0/000.340.0188 (u. 4)

SPECIAL SCREW 8x20 : T0228020

19
0/000.460.9136 (u. 4)

RJ-WASHER 20x8.5x1.5 Z (WHITE)
0/000.440.0161 (u. 4)

RJ-SKID PLATE {RIEJU MR 2021 -} (RED)

20 0/000.220.9142 (u. 1)

BOLT SPECIAL THREAD PLASTIC CABOTA HEXAGONAL 6X12 : T0806012
0/000.460.9101 (u. 2)

21

RJ-FRAME GUARDS SET {GASGAS EC/XC 18-19, MR 20~} (RED)

22
0/K00.220.9102 (u. 1)

SPECIAL BOLT 6x35 : T0206035

23
0/000.460.9124 (u. 1)

RJ-MR GAS TANK SILENTBLOCK+WASHER : BE76066GG-CLJ-1

24 0/000.360.9106 (u. 2)

HEX FLANGE BOLT 6x14 : T0206014/2 : T0206014

25 0/000.460.9118 (u. 2)

RJ-COMPLETE PREMIUM FOOTPEGS {RIEJU MR 22}

26
0/000.740.9104 (u. 1)

RJ-MR RIGHT FOOTREST SPRING S3 (569-494 / 495)

27
0/000.470.9111 (u. 1)

RJ-MR LEFT FOOTREST SPRING S3 (569-494 / 495)

28
0/000.470.9112 (u. 1)

RJ-MR FOOTREST PIN

29 0/000.840.9104 (u. 2)

RJ-MR FOOTREST SPRINGS & PINS KIT

298 ,K00.470.9100 (u. 1)

RJ-WASHER 10.5x20x2 ZINC PLATED DIN 125

30
0/000.440.9133 (u. 2)

RJ-MR FOOT PEG COTTER PIN : BE14040GG-CEQ-1

31
0/000.840.9100 (u. 2)

RJ-COMPLETE KICKSTAND KIT {GASGAS EC/XC 18-19, RIEJU MR RACING/PRO 2021 -}

32
0/K00.210.9100 (u. 1)

RJ-COMPLETE KICKSTAND KIT {GASGAS EC/XC 18-19, RIEJU MR 2021 -}

0/K00.210.9101 (u. 1)

33
RJ-MR RUBBER END FOR KICK STAND (2018-2019) : BE14255GG-CLJ-1
0/000.570.9100 (u. 1)

RJ-MR KICK STAND O-RING 15x1.5 : BE14260GG-CLJ-1

34
0/000.490.9100 (u. 1)

RJ-MR KICK STAND O-RING 17x1.5 : BE14261GG-CLJ-1

35
0/000.490.9101 (u. 1)

RJ-MR KICK STAND BUSHING (2018-2019) : BE14220GG-CLJ-1

0/000.480.9102 (u. 1)
36
RJ-MR CLUTCH PRIMARY BUSHING : ME25632012

0/000.480.9121 (u. 1)

SCREW ESP. 8x25 : T0228025

0/000.460.9137 (u. 1)
37
RJ-SCREW ISO 7380 TORX T-40 M8x25 INOX

0/000.460.0081 (u. 1)

RJ-MR KICK STAND LCAM (2018-2019) : BE14230GG-CLJ-1

38
0/000.830.9100 (u. 1)

OBSOLETE : 0/000.460.0083 : BUTTONHEAD ALLEN BOLT 5X16 : T0505016

0/000.460.9155 (u. 1)
39
ISO 7380 Torx T-25 SCREW W/ WASHER M5x16 INOX

0/000.460.0083 (u. 1)

Central Powersports Distribution - Last modification: 26/04/2022



2022 - MR SIX DAYS 300CC USA (FRAME)

40

41

42

a7

RJ-MR KICK STAND BUSHING LCAM (2018-2019) : BE14231GG-CLJ-1
0/000.480.9103 (u. 1)

RJ-MR EXTERIOR KICK STAND SPRING (2018-2019) : BE14245GG-CLJ-1
0/000.470.9103 (u. 1)

RJ-MR INTERIOR KICK STAND SPRING (2018-2019) : BE14250GG-CLJ-1
0/000.470.9104 (u. 1)

NYLOC NUT 6mm : T2106001
0/000.340.9113 (u. 1)

RJ-MR DECAL OIL RECOMMENDATION
0/000.390.0000 (u. 1)

RJ-LEFT CYLINDER HEAD BRAKET {RIEJU MR 22}
0/000.980.9126 (u. 1)

RJ-RIGHT CYLINDER HEAD BRAKET {RIEJU MR 22}
0/000.980.9125 (u. 1)

Central Powersports Distribution - Last modification: 26/04/2022

CENTRAL POWERSPORTS



